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Faraday’s disk us.e for study about electric force and magnetic force. Important components of
Faraday’s disk are magnetic field and aluminum disk. When input the current by power supply then
magnetic field will through aluminum disk and measured by teslameter. Transverse teslameter use
for measure magnetic field between two shoepoles and output of measuring is digital form in
millitesla unit. At the same time have different voltage between two points on aluminum disk that
measured by voltmeter and measure speed of aluminum disk by tachometer. Then record data of
‘magnetic field, speed of aluminum disk (frequency) and calculate voltage between Itwo point (AV)
and plot graph. When compare AV between result of test and Lorentz’s theory fouﬁd AV from

Lorentz’s theory is higher than AV from this test.





